






























Solve by the formula to 2 dec places

22 8 5 0 2 325 x 11 0 3 525 2x 7 0

4 4 2 10 3 0 5 25 7 1 0 6 32 x 5 0

Complete the square and identify cords of turning point
7 2 8 5 8 x 7 3 9 x lox 4
o 25 6 5 11 3 5 9 8 12 55 10x 3

Solve by factorising
3 x2 7 6 0 14 22 6 8 0 15 x2 5 14 0

6 I 8 20 0 17 25 6 9 0 18 75 32 4 0

9 25 52 7 0 20 32 10 8 021 65 13 6 0
Solve by Difference of Two Squares

22 422 9 0 23 16 2 25 0 24 4925 36 0

x b I 32 aac

za

1 2 2 8 5 0 x 81 82 4 2 s

262

x 81 64 40

Consolidation of Quadratics



4

x 8 4 21 0.78
2C 3.22

2 3 2
x 11 0 x I Ife 40 n

x 2.09x II 133
x 1.76

3 5 2 2x 7 0 x 21 62 4 sky
265

x 21 144

10

4 4
2 10 3 0 x 101 102 4146

2 a

x 10,1152
2 0.35
x 2.15

5 2 2 7 1 0 x If 5 4cal
2 z

x 71141 2 3.35
4 2 0.15



6 3,5 x 5 0 x 11112 4 3 s

263

x 11161
6

1 14
x 1.47

7 x 8 5 x 47 5 16 att 11

Min point 4 11

8 x2 7 3 x z 3 44 x z E
Minpoint Z E

9 It 10 4 2 5 4 25 2 5 21

Ma point 5 21

10 2,5 6 5 2 x 3xtE
x zits E

2 x 3 5 E
2 xx t Manpoint t



11 3 2 9 8 342 3 3
3 x 35 5 E
3 x 31 8 24
3 x E E Ma point 2,1

12 5
2
10 3 51 2 2 3

5 x it i

5 x 17 3 5

5 x it 2 Minpoint 1 2


